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QUESTION 1

Which of the following configurations would suggest that an Informix server is tuned for a DSS workload? 

A. PDQPRIORITY is set to the value "HIGH". 

B. There are more transactions than queries. 

C. Database or table logging is turned on. 

D. A task is configured to capture Checkpoint data every two hours. 

Correct Answer: A 

 

QUESTION 2

Which statement about the OpenAdmin Tool (OAT) for Informix is TRUE? 

A. It is only available for Informix Ultimate Edition. 

B. It is a separate, add-on feature that is chargeable. 

C. It can manage hundreds of local or remote Informix instances. 

D. It can manage, monitor, and administer local databases only. 

Correct Answer: C 

 

QUESTION 3

What is the primary function of the Informix Connection Manager? 

A. To monitorand direct the connection requests from client applications to the appropriate server in the high availability
cluster. 

B. To monitor and maintain the connections between nodes in an Enterprise Replication environment. 

C. To monitor and govern SQL statements submitted by client applications. 

D. To monitor and report the connection status of the High Availability Data Replication (HDR) secondary server. 

Correct Answer: A 

 

QUESTION 4

Which type of high availability server does NOT maintain a copy of the entire physical database in its ownisolated disk
space? 

A. Remote Primary Server (RPS) 
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B. Remote Standalone Secondary (RSS) 

C. Shared-Disk Secondary (SDS) 

D. High Availability Data Replication (HDR) Secondary 

Correct Answer: C 

 

QUESTION 5

What is a feature of the architecture of Informix? 

A. Limited extensibility capabilities 

B. Fan-In and Fan-Out parallelism 

C. Synchronous I/O for fast read-ahead 

D. Process-based with minimal use ofmultithreading 

Correct Answer: B 

 

QUESTION 6

By default, who is granted access to the sysadmin database? 

A. Nobody 

B. PUBLIC 

C. The Informix user only 

D. root 

Correct Answer: C 

 

QUESTION 7

Which of the following is a key benefit of Informix? 

A. Database extensions can be added to supportnew business problem domains. 

B. Chunks can be two gigabytes in size. 

C. Uptime of at most 80% can be achieved using continuous availability features. 

D. Databases can be administered by a local database administrator. 

Correct Answer: A 
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QUESTION 8

Which of the following components is used to create, schedule, and execute maintenance,monitoring and administrative
tasks? 

A. Scheduler 

B. Optimizer 

C. PDQ 

D. ON-Bar 

Correct Answer: A 

 

QUESTION 9

Which of the following statements is True about the Onstat utility? 

A. It cannot be used to retrieve locking information. 

B. It consume a lot of the system\\'s resources andshould be used infrequently. 

C. It doesn\\'t place any locks on shared memory. 

D. It can be used to view table data. 

Correct Answer: C 

 

QUESTION 10

What is the smallest unit ofphysical I/O in an Informix server? 

A. Chunk 

B. Extent 

C. Page 

D. Dbspace 

Correct Answer: C 
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